
  

APRIL 2020  72095/TEM6C 

Time : 2
11  hours Maximum : 75 marks 

PART A — (5  3 = 15 marks) 

Answer any FIVE questions. 

1. What is linear programming? 

 ÷|›¯À {μ»õUP® GßÓõÀ GßÚ? 

2. When we use graphical method to solve linear programming 
problem? 

 ÷|›¯À {μ»õUP ]UPÀPøÍ wºUP ÁøμPø» •øÓø¯ G¨÷£õx 

£¯ß£kzx÷Áõ®. 

3. Write a necessary and sufficient condition for the existence of a 
feasible solution to the general transportation problem. 

 ÷£õUSÁμzx PnUQØS \õzv¯©õÚ wºÄPõn ÷£õx©õÚ ©ØÖ® 

÷uøÁ¯õÚ {ø»ø©PÒ GÊxP. 

4. Write any two method for finding an initial basis feasible 
solution to the given T.P. 

 T.P. Bμ®£ Ai¨£øh \õzv¯©õÚ wºÄ Põq® H÷uÝ® Cμsk 

•øÓPøÍ GÊxP. 

5. Write the mathematical formulation of Assignment Problem. 

 JxURmk PnUQß Pou `zvμzøu GÊxP. 

6. What is total elapsed time? 

 ö©õzu PÈ¢u ÷|μ® GßÓõÀ GßÚ? 

7. When will the game have a Saddle point? 

 ÂøÍ¯õmiÀ G¨÷£õx J¸ ÷\n® ¦ÒÎ C¸US®? 

8. What are the basis elements of a queueing system? 

 Á›ø\•øÓ°ß Ai¨£øh TÖPÒ ¯õøÁ? 

9. Define transient state. 

 Áøμ¯øÓ: {ø»¯ØÓ {ø». 
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10. Write the expansion of PERT and CPM. 

 PERT ©ØÖ® CPM –ß Â›ÁõUPzøu GÊxP. 

11. What is a Project? 

 J¸ vmh® GßÓõÀ GßÚ? 

12. If 5,4,30  pm ttt  find et ? 

 5,4,30  pm ttt  GÛÀ et – U PõsP 

PART B — (3  10 = 30 marks) 

Answer any THREE questions. 

13. Express the following LPP in the standard form : 

 Maximize : 321 523 xxxZ   

 

Subject to constraints :
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 ¤ßÁ¸® LPP ø¯ {ø»¯õÚ ÁiÁzvÀ öÁÎ¨£kzuÄ®. 

 «¨ö£¸©õUS 321 523 xxxZ   
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14. Solve the graphically the following LPP : 

 Maximize : 212 xxZ   

 

Subject to constraints : 
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¤ßÁ¸® LPP ø¯ Áøμ£h® ‰»® wºUP  

«¨ö£¸©õUS 212 xxZ   
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15. Find a initial basic feasible solution to the following TP by using 

North-West Corner rule : 

      Supply 

 2 11 10 3 7 4 

 1 4 7 2 1 8 

 3 9 4 8 12 9 

Demand 3 3 4 5 6  

 ¤ßÁ¸® ÷£õUSÁμzx PnUQØS Bμ®£ Ai¨£øh wºøÁ 

Áh÷©ØS ‰»Âv¨£i PõsP. 

  

      Supply 

 2 11 10 3 7 4 

 1 4 7 2 1 8 

 3 9 4 8 12 9 

Demand 3 3 4 5 6  

16. Solve the following assignment problem : 

 I II III IV 

A 9 8 6 1 

B 7 5 2 1 

C 6 4 1 5 

 ¤ßÁ¸® JxURmk PnUQøÚ wºUP. 

 I II III IV 

A 9 8 6 1 

B 7 5 2 1 

C 6 4 1 5 
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17. Solve the following game :  

  

 Player B 

 1 7 3 4 

Player A 5 6 4 5 

 7 2 0 3 

 RÌÁ¸® ÂøÍ¯õmøhz wºUP. 

 BmhUPõμº  B 

 1 7 3 4 

 BmhUPõμº A 5 6 4 5 

  7 2 0 3 

GßÓ ÂøÍ¯õmkUS wºÄ PõsP. 

18. Construct the network for the project : 

 Activity : 1-2  2-3  2-4  3-5  4-5  4-6  5-7  6-7  7-8  7-9  8-10  9-10. 

 RÌUPsh vmhzvØPõÚ Áø»¤ßÚø» E¸ÁõUSP. 

 ö\¯À£õkPÒ : 

 1-2  2-3  2-4  3-5  4-5  4-6  5-7  6-7  7-8  7-9  8-10  9-10. 

19. Define the following : 

 (a) Processing order 

 (b) Processing time. 

 ¤ßÁ¸ÁÚÁØøÓ Áøμ¯øÓ 

 (A) ö\¯»õUP Á›ø\ 

 (B) ö\¯»õUP ÷|μ®  
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PART C — (2 × 15 = 30 marks) 

Answer any TWO questions. 

20. Use simplex method to solve the LPP : 

 Maximize : 212 xxZ   

 
Subject to constraints : 
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 ]®¨ÍUì •øÓ°À LPPø¯ wºUP 

 «¨ö£¸©õUS 212 xxZ   

 Pmk¨£õkPÒ 
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21. Solve the following transportation problem : 

     Supply 

 5 4 2 6 20 

 8 3 5 7 30 

 5 9 4 6 50 

Demand 10 40 20 30  

 ¤ßÁ¸® ÷£õUSÁμzx PnUQøÚ wºUP 

     ÁÇ[PÀ

 5 4 2 6 20 

 8 3 5 7 30 

 5 9 4 6 50 

÷uøÁ 10 40 20 30  

22. Solve the following game graphically : 

 Player B 

6 –3 7 Player A 

–3 0 –6 

 ¤ßÁ¸® ÂøÍ¯õmk PnUQøÚ Áøμ£h® ‰»® wºUP 

 BmhUPõμº B 

6 –3 7 BmhUPõμº A 

–3 0 –6 
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23. Solve the following sequencing problem : 
Job : A B C D E F 

Machine A : 3 12 18 9 15 6 

Machine B : 9 18 24 24 3 15 

 ¤ßÁ¸® Á›ø\U PnUøP wºUP 

÷Áø» : A B C D E F 

C¯¢vμ® A : 3 12 18 9 15 6 

C¯¢vμ® B : 9 18 24 24 3 15 

24. In a public telephone booth the arrivals are on the average  
15 per hour. A call on average takes 3 minutes. If there is just 
one phone find : 

 (a) expected number of callers in the booth at any time 

 (b) the proportion of the time the booth is expected to idle. 

 J¸ ö£õx öuõø»÷£] \õÁi°À Á¸øP \μõ\›¯õP J¸ ©o 

÷|μzvØS 15 BS®. \μõ\›¯õP J¸ AøÇ¨¦ 3 {ªh[PÒ 

GkzxöPõÒQÓx. A[S J÷μ J¸ öuõø»÷£] C¸¢uõÀ 

RÌPshÁØøÓ PõsP. 

 (A) AøÇ¨£õÍºPÎß GsoUøP G¢÷|μ•® 

 (B) \õÁi ö\¯»ØÓuõP C¸US® ÷|μ®. 

————————— 


